Timer A

Power supply: 10-14VDC

Output: open collector to ground, MAX 0.7A
Jumper in oposite side: Pull Up resistor 1kom
Jumper J1, J2 — delay time selection (see table)
Jumper J3 — output polarisation selection (see table)
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Jumper in oposite side: Pull Up resistor 1kom
Jumper J1, J2 — delay time selection (see table)
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Output: open collector to ground, MAX 0.7A
Jumper in oposite side: Pull Up resistor 1kom
Jumper J1, J2 — delay time selection (see table)
Jumper J3 — output polarisation selection (see table)
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Power supply: 10-14VDC

Output: open collector to ground, MAX 0.7A
Jumper in oposite side: Pull Up resistor 1kom
Jumper J1, J2 — delay time selection (see table)
Jumper J3 — output polarisation selection (see table)
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